H & 0l & AHS B Ml A

A 70HE
B Q010 ARSI (LBDT/LHHE)
el AHEXNZES (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
=O0{H 506,066 494,062 12,004
SO AISZH(LEISSHE/LEHEE) 434,742 414,810 19,932
IS 265,220 258,620 6,600
ot #=sXI& 128,820 102,220 26,600
301 EetE NS 128,820 102,220 26,600
o7 8% -0 - H¥Es243 117,420 90,820 26,600
oolg+¢ 115,520
-JlZs 400,000 x198 «12& 91,200
-0 400, 0003 * 19 <23 16,200
-3 ¥NE 20,0002 x 192 +23|* 12 9,120
Oerded=s 25,0002 38 *23] 1,900
4 JIEt2 8= 11,400 11,400 0
O0lg &S| 50,0002 x19&«12& 11,400
Sl PAL 4,000 4,000 0
301 EtE NS 4,000 4,000
11 dALEEIXIZE S 4,000 4,000
Ous - 219, &AL AL &HI2d
4,000,000& 4,000
342 N9FEE FUEHMA(R0HH) 130,000 150,000 A20,000
401 Al HIZ S 0HYI 130,000 150,000 220,000
01 AlZ2H| 130,000 150,000 /20,000
ORY0lE s & SA
25,000,000& 25,000
OJtetit= Bi+==2 EHl SAt
15,000,000& 15,000
Os20t2 HulZ&6He Xl
10,000,000 10,000
OUtiotE UWH&E s2 &ZE SA
40,000,000& 40,000
Od&Eits 238t =4 20,000,000 20,000
Obl-0ts 5= +==MA
20,000,000& 20,000
SqgF-d 2,400 2,400 0
204 MR AH| 2,400 2,400
2 S3g =3l 2,400 2,400
OM=Eggs+d 100,000 <2~ 122 2,400
A& SSAIE 22 169,522 156,190 13,332
A2 51,934 40,768 11,166
101 @124H| 29,688 27,522 2,166
M ORIMZZ2NSE S 29,688 271,522 2,166
OFAr2e| o122y 29,688
-Jl=s 78,8803 x 1 #2474 19,484
-FaRdadfsd 78,8802 x 167 5,285
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B Q0101 AR (LIBDHT/LHHE)
Rl AP SEAIE 2Ll (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A28z 24,768,320 *10. 3% 2,552
-EA= 78,8802 *30! 2,367
201 fet=23y| 13,246 13,246
01 AtR2tc|HI 3,246 3,246
Oget=EH| 3,246
- A3 HI 22| 132,000« 12& 1,564
QA Hl4E =23 38,5002 x 12 462
-EA 2HEA HIO 8XtE
25,0008 x 12 4K 1,200
02 S3=gHl 10,000 10,000 0
Og=zH| 2,000,000 *14] 2,000
OAIZEHIFXIHI 3,000,000& *14] 3,000
OXtgrset] 5,000,000 * 14 5,000
401 AIEHIX SO 9,000 9,000
01 AlZH| 9,000 9,000
OFAL 21214 LD d&E 4X
9,000,000& %14 9,000
S3AIE 2| 117,588 115,422 2,166
101 e124d| 32,688 30,522 2,166
M ORNZZ2NSE S 32,688 30,522 2,166
ONSSEAIE 2el 29,688
Sl 78,8802 12452472 19,484
-pEguaesy 78,8802+ 12672 5,28
40 2EE 24,768 ,32021%10.3% 2,552
-gl=3 78,88021 %302 2,367
O=MME|CAIZA SR
3,000,000& 3,000
201 Ler=23 | 11,900 11,900
01 At22te|Hl 2,000 2,000
ON=Esad 228 Y
2,000,000 %14 2,000
02 s3=gHl 9,900 9,900 0
OZ332= 2 HMAl 6,900
-SSAE HJIks 500,000& * 122 6,000
-HMESE SSEY 3k 28 =
15,0003 +60E*17H A 900
OAIE2 &= X 3,000,000 %14 3,000
206 M=l 3,000 3,000
01 MHZHI 3,000 3,000
OME3Y |XZ2(H=I1g & 7¢)
100,000& *5LH*62] 3,000
401 Al HIZL 01| 70,000 70,000
01 Al&H| 70,000 70,000




od
i’
oF
uJ

V| X0 | © (@) (e} (@) [ Ne)
SEIEIEIE 218 |S 3
- NN — | — © | ©
n0 4|4 <|<|« <1<
KIo
E
B
AEIEEIE EEREEEEENEE
y z|e|r|s|a S |glg |s|e o ||
ol
uild]
RIS
S 8 8IS S 238 T S8 8IRIRIIIRIS 8IS 8818 8 8
SO O O|MO|MOIMMIO|S O ~ — M O O O~~~ M~MN][]O © VL L O©O OIS o ©
8 2 2ltIcc|dlg &~ ~ N o oLl g6 © @ oo —
3
<
b=
S g gaz | 3|z 8 g | ze
y = 22 oAl a | g & 3| 2z
30 ™
% | 222 5 283 B8 | 8 8 g | 88
m | B8 - kS g z ¢ g 8 3
0 _383 2 = 2 o >
e g g
. Ea
k&
S N
= | ) _ _ _
= |- = T D 5T D 5 D 5
=1 Ry I = R R g RE R |R
= |K = 5|2 = P ) R
oF |OF o _ 5 o- OF oF OF o O |55 |<F
oF 0F M K
a7 E__u ol \m)wmouworo mg lm@_ww@wmg%moa_.
. w o o oo e 80 |3 g0 — & T T |Rl|80 2 < B =0 | 3D N
= |= zozo%w%@m_@#wuwga S Sk W xS oy Wik | RO
._mo H0 @E(o_ﬂ(u‘_m_“m_momaanﬁ_ozoannL_u_.n_@_%oﬂcumAm_.ﬂﬁxoD_
K % ﬂﬂm(mm___A%_oO:_m%g@@E%@N@@%ﬁ%&&%%
z SEEIEIE g -8z |8l -8 -3 “|g|5
N
I+ o0 ||~
R [~

60




